A5y
(3, 4)5 (2 ,1-) Lad Alal o ol ¢ <5 Latie Aadl) At} alay) -1
:Jall
lazall Lalail)
(x1,y1)=(1,2) -«
(x2,y2)=(3,4) -
1)2 - 1)/(0=a2 = =) = ()l Jie
—{-1})=2/4=1/23)/2-4)=-
cod bl Alall oY)
Lo—uw)el=c—u
(—{-1}e)2/1=2—-¢
(1+w)2/1=2-=
1+ pw=4—0=2
O0=5+ =2 —
f(x) = 2x + 4 A G gSas 225} -2
:Jadl

I sl e sUanal) Adadll A1) (S 1 5 shaal
4+ 2=
Y5 X Gaosiall Jiary 8 Y1 2 5 skl

4+ =22 =



y‘_A.c d}..aaﬂ o e f ddaleal) @;33#\
ve2 =4 — o
2/(4 — ) =

f(x). danSall Al & 5 f -1 (x) 2 y Jasiad: 4 3 5kl

/(4 —0) = (o) -1



